Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2, Any revealing of identification, appeal to evaluator and /or equaticns written eg, 42+8
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Data Communications
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ach module.

Moﬁule-
What is data communication? Dﬁ@u\%s different criterias ne%essary for an effective and
efficient network. . SR (04 Marks)

any cables are needed? How

Assume eight devices are ar@@g% d in a mesh topology ;
& (02 Marks)

many ports are needed for e§a0h dovwe"

Explain the layers in T i protocol suit. (08 Marks)
If a peak voltage of % al is 20 times the peak age of the noise what is SNR and
SNRs. (02 Marks)
&
Explain dlfferentxcauses for transmissioni ment. (06 Marks)
Draw the graph of NRZ-L, NRZ-I and Bipolar schemes using the following data stream
0101 @(%Q‘ 4 4 (04 Marks)
Bring E%e major difference betweon TCP/IP and OSI deel (03 Marks)
What"isithe total delay for a fgam% of size 5 million it that is being sort on a link with

10 routers each having a queumg“’flme of 2us a cessing time of Ius. The length of the
link is 2000km, the speed Jink has a bandwidth
of SMbps. (03 Marks)

3
03 ’\’Iarks)
(04 Marks)
4 (05 Marks)
(04 Marks)
. (05 Marks)
d 'We have an available bandwidth of 100kHz which spans from 200 to 300kHz. What should
be carrier ﬁequency and the bit rate if- we modulated our data by using FSK with d = 1?
o P Y (02 Marks)
N
. , ¢  Module-3
5 a. Given dataword 101001111 and devisor 10111, show the generation of CRC codeword at
the sender site. (06 Marks)
b. Bit stuffthe followmg{?&?ne payload 0001111100001111101000111111011110000111
(03 Marks)
€. With neat dlagramexplaln point-to-point protocol frame format. (05 Marks)
d. Prove that thqgfgoge represented by the following codewords is not linear:
[(00000), (0101Y) (10111), (11111)] (02 Marks)
1of2 '
¥



10

oe

15CS46

~ OR
Explain flow diagram for stop and wait protocol. (05 Marks)
With neat diagram explain different frame types avaiéﬁ DLC. (06 Marks)

466F)16, (726F)15, (757A)16 and
i 19“ﬁal checksum algorithm. (05 Marks)

Assume a packet is made any of four 16 bit
(616E)y6. Find the sender site check sum using t

Modul
Explain different persistence methods. ¢ (06 Marks)
What are orthogal sequences give thei { (03 Marks)

We have pure ALOHA network

p0 stations. If Tg is 1 pg Vhat is the number of
frames each station can send to a

the maximum effici 7 (02 Marks)
: (05 Marks)

(06 Marks)
(06 Marks)
(04 Marks)

Jpatgern with frequency reuse(fag (02 Marks)
dlscuss different serv1ce t prov1des to the subscribers. (07 Marks)
2000 1456:2474/48. What is the CIDR notation for the
, the first and second su?n izati (02 Marks)

r strategies involved in#tansiti £LONPV6, explain any two in detail.
A (05 Marks)

(08 Marks)
With the help of ﬂow diagram discuss ote host communicates in
mobile I, . (06 Marks)
Accordmg to 1 i e i te that is located at an orbit

' ‘ (02 Marks)
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